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#5336 BMUMMAEHNGHE

531 MEEREREK
E(X)=2xf (9= & f,(xy=Z xf,( x)
Fl 32

E(V)=Zvi(9=2 & £, (xy=2 vi.( x)

y y X



Z¥ 55 TworvsX &Y, a,b0l
= E(aX+bY)= af X+ bE Y
Proof: E(aX+bY)=xx( ax- by f,( x)
Xy

:gzy(axfx,Y(X, y)+ byt . ( 3))

22 (axfy (% y) + 22 ( byl x )
:alexzy fX,Y(X’ y)+ l:zy IX: t(,Y( )’( 9
=arxf, (x)+ 1 yi ()

=aE( X)+ bE Y)






Ex.5.6 FromEx5.3

E(X)=3xf, (x)=1(0.1)+2(0.5)+3(0.4) = 2.3
E(X?)=x x?f, (x) =12(0.1) + 22(0.5) + 3?(0.4) = 5.7
var(X)=E(X?)-E(X)’'=5.7-(2.3)° =0.41

E(Y)=3 vyf, (y)=1(0.4)+2(0.1)+3(0.2) = 2.3

y

E(Y2)=3 y?f, (y)=12(0.4) + 2(0.1) + 32(0.2) = 6.7

y

var(Y)=E(Y?)-E(Y)'=6.7-(2.3] =141



532 B R

- rvsX)Y. XY 8 X F £ (cross moment) € & 4

E(XY)= RRILY (x,y)

Notes :
1l IXFEEXIMBENOBE
i.e. E(XY)#E|(X +c)Y]

" E[(X +c)Y|=E(XY +cY)=E(XY)+cE(Y) # E(XY)



FRRTT R D iR BRI B AT ERIXE £ -
P45 i 4 £ #(covariance) - & CoMX,Y) %«
i.e. CoM(X,Y)=E|[(X -E(X))Y-E(Y))]

TR AME mean £IE L E G -

If CoMX,Y)>0=>%kFFHmE B BREEFHHAMEE -
If Coy(X,Y)<O0(FFHmsE  BUEHEL4HHI@MER

2. Cov(X,Y)=E(XY)-E(X)E(Y)



" Cou(X,Y) = E[(X = E(X))Y - E(Y))]
= E[ XY - XE(Y)-YE(X) + E(X)E(Y)]
= E(XY)-E(X)E(Y)-E(Y)E(X)+E(X)E(Y)
= E(XY)-E(X)E(Y)
3. CoX,X)=E|(X - E(X))?*|=Var(x)

4. Co\(X,Y)=CouY, X)



AX 57 Cov X Y)= Co{ Y ¥

E[ (%~ E(X))(Y= € V)]
E(XY)- E X) §Y



X358 X,Y AmEEMA&SE > a,bcdU. Rl
CovaX +c,bY +d)=Co\(aX,bY)=abCo\(X,Y)

proof :
1. Co\(X,d)=E(Xd)-E(X)E(d)=dE(X)-dE(X)=0

2. CovaX,bY)=E((aX)(bY))- E(aX)E(bY)
= abE(XY)-abE(X )E(Y)
= ab(E(XY) - E(X)E(Y))

=abCo\(X,Y)
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Ex59 4 Ex56& Ex53 £ CouX,Y)=7

- Cov(X,Y)=E(XY)-E(X)E(Y)

E(X)=23, E(Y)=23

E(XY)= %%xyfm (x,y)=57

. Co\(X,Y)=5.7-2.3x2.3=0.41

4 Y=Y+2= E(Y)=E(Y)+2=43

Cov X, V)= § XY¥- € ¥ €Y= E X¥(23)(43)=041

E(XY)=E(X(Y +2))= E(XY) +2E(X ) =5.7 +2(2.3) =10.3



" E(XY)# E(XY)

1.2 Co(X,Y)=CoX,Y)=CoUX,Y +2)

Var(X +Y) = E|[(X +Y)-E(X +Y))?|= E|[(X +Y - E(X) - E(Y))?]

=Var(X)+Var

A

Y)+2Co\(X,Y)



Var(X -Y)=Var(X +(-Y))=Var(X)+Var(-Y)+2Co\(X,-Y)

=Var(X)+Var(Y)—-2Co\(X,Y)

¥ 510 X#mY Arvs a,b00, A
Var(aX +bY)=a*var(X)+b*ar(Y)+ 2abCo\X,Y)

2 CoVX,Y)=0 = Var(aX £bY)=a%ar(X)+b*Var(Y)
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5.3.3 48 R4 #

48 B 14 2 (correlation coefficient) :

(A8 BA42 ). 2 Corr(X,Y) &« o

AR5 XY %8 rvs

] Corr(X,Y)=

Fre wEREAAS BRER

SEBIEIZ o

R BH s ko, & o).

Con(X Y)
. [T,

14



Remark :

Corr(aX,bY) =

=+

CovaX,bY)  _ abCo\(X,Y)

War(aX)dVar(bY) |alol/Var(X)QVar(Y)
Cov(X,Y)

—JVar(X Var(Y)

=+Corr(X,Y)

N

e, HMHGEYBEHERSEHEBEMEHWBE -
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£ 512 X,)Yrvs. A -1<Corr(X,Y)<1

proof :
Oad0 Var(X -aY)=Var(X)+a®var(Y)-2aCo\(X,Y)=0

_Co\(X,Y)
~ Vvar(Y)

Za

Co{X,Y) o X,Y)*
var(Y) ° EgVar(Y)

= Var(X)=z Cc\J/\gz\,(\)()Z

_ Co{X,Y)
Var(X Var(Y)

= Var(X)+ >0

<1 = CoVX,Y) sVar(X)WVar(Y) (47 #& & % &)
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= Corr(X,Y)* <1

= —1<Corr(X,Y)’ <1

Notes :

1. %Corr(X,Y)=+1, X 821 Y B 44k (perfectly correlated)
2. Corr(X,Y)=0,X #2Y %% 4% 4k (uncorrelated)

3. If Corr(X,Y)>0 = X 1Y &E48E (positively correlated)

If Corr(X,Y)<0 = XY % &4 (negatively correlated)

17



4. If Y=aX+Db

_ CovX,Y) _ CouX,aX+bh)
Corr (X Y)= arx Varly) - Var(XVar(ax +D)
_ aVar(X)
~ JVar(X)ia d/Var(X)
= +Var(X) =+1
“Var(X) T

le. & WmME VAL AR > L /T2 -

If a>0 = =42 iF 48 B
If a<0 = %2 A48k

18



® faifaB R E XY a9 e B E

5. X,Y 748 B M I R AREAFE B R B4R o

ks
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Ex5.13 4 Ex5.9 % -zt & Corr(X,Y)

CoX,)Y) _ 041 _
War(XVar(Y)  Jo4Lial oo

Corr(X,Y) =

Note: XY BB = XY 22Kk &0. 2R 2R L.

© Co\(X,Y)=E(XY)-E(X)E(Y)
= XX xyh(x,y) - E(X)E(Y)

= 220, (9, (y) - EXEY)

20



KXY 4 B2 R 48 3 e ] T

1
%x:{ i

Cov(X,Y)=E(XY)-E(X)E(Y)

2 Y =X (X#Y R4

Nk N

=)@ 3+(-1)(-1)°'3-0=0

=N P= 0 NP A
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